Formal Geometry Name
8.2 Day 2 Worksheet

*Do all work on your own paper!

For #1 — 6: Solve for the variable. Use exact answers only (no decimals).
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For 7—9: Three side lengths are given below. Determine if these sides would create a right triangle, an
acute triangle, an obtuse triangle, or if they would not form a real triangle.
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13) The sides of a triangle have lengths x, x + 5,and 25. If the length of the longest side is 25, then find the
valuc of x that would make the triangle a right triangle. e
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For #14 — 15, find x.
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16) M is the midpoint of PQ in rectangle PQRS. Find the perimeter of AMST. Exact answers only.
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17) A tree has a height of 24 feet, and a shadow that is 15 feet long. At the exact same time of day, when Andy stands
next to the tree, his shadow is 3 feet long, Find the distance from the top of Andy’s head to the end of his shadow,

rounded to the nearest hundredth of a toot.
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